
∴
𝑙

𝜃
=

𝜋𝑑

360
=

2𝜋𝑟

360
=

𝜋𝑟

180
    

𝒍 =
𝝅𝒅𝜽

𝟑𝟔𝟎
=

𝝅𝒓𝜽

𝟏𝟖𝟎
  

 

Area of a Sector:  

 

𝜽𝟏 = the angle formed by the 𝐦𝐢𝐧𝐨𝐫 sector  
𝜽𝟐 = the angle formed by the 𝐦𝐚𝐣𝐨𝐫 sector  
𝜽 = the angle formed by a sector  

 

 

 Let the area of the sector = 𝑨𝒔 

 

𝑨𝒔

𝜽
=  

𝝅𝒓𝟐

𝟑𝟔𝟎
=

𝝅(
𝒅

𝟐
)

𝟐

𝟑𝟔𝟎 
  

 
𝑨𝒔

𝜽
=  

𝝅𝒓𝟐

𝟑𝟔𝟎
=  

𝝅𝒅𝟐

𝟒∗𝟑𝟔𝟎  
   

∴ 𝑨𝒔 =  
𝝅𝒓𝟐 𝜽

𝟑𝟔𝟎
=  

𝝅𝒅𝟐𝜽

𝟒∗𝟑𝟔𝟎  
  

 

Examples:  

1. Find the area of the circle with diameter of 6 cm. Take π = 3.142.  (Answer 

=28.3𝒄𝒎𝟐)  

2.  

ii)  Find the circumference of the circle with (Take π = 3.142) 

a) Diameter= 8cm  

b) Radius=4cm  

 

3. Find the area of the sector of a circle with radius of 2 cm and an angle of 60®. 

(Take π = 3.142)  

 

4. Find the length of the arc on a circle with radius of 8cm and forms an angle of 

80® at the centre of the circle.  

𝜽𝟏 

minor 

sector  

𝜽𝟐 

major

sector  
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